AT PEIR % 956

AREFTKE T FNOU

FRER

[Adp])] #4204 (2) pr=d REFRFETK =]
Fipgm aﬁﬁ\?sﬁiéﬁéﬁiﬁT’ﬁiﬂﬁ@?? AR S TR L
& (MOU) - #p I?réa%J%‘?iﬁ&%i & EEA Frx e

MEFRGEEL T 0 ARARP 7 A BT A2 o Mo R H] B RET (MOOCS) pﬁcﬁ
%"?ﬁg}’ﬁ:;\ﬁﬁ.—ﬁ?{%ﬁ”;ﬁd TR egEzTibaMere e B ¥ T 4 > BE 2 BFp 2
EY S E 2EYMFZ RINF - FLRA hF RELEEL T4 *#Qﬁ
AR FFEAAGF R FREFE T Fh 0 B ?3‘_,]&#.'13% EEP R EEE FD
B & PRFE o

«kﬂ\f

i

’

A 71‘3&

A AR E S 0 PR G080 L KRB AR L cEE e e AT
 TEE Y MR S TR BT F TR S AR TR 2 APPAR
FRVFEARISRPT RAA D EFSERCE RIS B AT (TR RY
= 4
R

2015/03/02



